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End Semester Examination, 2022
Semester - 11
Physics
PAPER - GE-3T
Full Marks : 40

Time : 2 Hours

The Figures in the right hand margin indicate marks. Candi-
dates are required to give their answers in their own words

as far as practicable.
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(Answer any Five questions)

a) TReWOTE ASH =14 . 2
State Huygen's principle.

b) W @9 @ FE (@ FILF AqA ? 2
Define phase and group velocity.

¢) PBNAE THAT TIOWMAN @ AT ATH (7Y | 2

What are the effects of temperature and pollution

on the surface tension.

d) rfa ofs f& 2 2
What is periodic motion ?
e} o AT qfo bRy 2

Write down two characteristics of stationary wave.

f) “wrER AEEE AEw o Fore e 7w I -
[T FTAT | 2
(Turn Over)



g)

h)

2

Explain — "Interference of light don't break con-
servation of energy.” |

FISTEIAT FHSO ATGAT I8 (=1 | 2
Write down some essential features of beats.
Bae= fFm &2 2
What is Tyndale effect ?
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(Answer any Four questions)
7 FRooIET ERA 79 5
Write down the condition for permanent interfer-
ence.
oprtfe 7 97 AT SRBIAT oo fAefy AT | 5
What is surface energy ? Determine the relation
between surface energy and surface tension.
Tefaerer S we & @2 @R @m oFem 9% A
2ATUTSY ? 5
What do you mean by principle of superposition ?
Where the rule is applicable?
S[ORTAS G W QATST A0y AwRerE Refy F0an 5
Establish the relationship between phase velocity
and group velocity.
AN T FICF S0 ? AW TIH 0 SRR WS | 93T
W AfFArS R AW e IAER I W O Hieew
WAT Qo I N 2GR MR ? 5

RNLKWC/I1IS/PHYSICS/GE-3T/22

3

What is wavefront ? Give an example of spherical
wavefront. What will the effect on interference
pattern if white light is used instead of monochro-
matic light.

WFG @5t FAF 4CF ? 2mm FJi¥ [/ (St Tog 100
cm? CFATTER 4S6 (2% o $1 76 | Ere sghe
TR 3 cm/ sec QTS BIEF FACS IS SHGNE AT ATATT
a? 1+4
Define critical velocity. A plate of area 100 cm? is
floating on an oil of depth 2 mm. What horizontal
force is required to move the plate horizontally
with a velocity of 3 cm/sec ? The coefficient of vis-

cosity of iol is 15.5 poise.
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{Answer any one questions)
a) lmm IFYT 9F (@1 T 9F% TWOW 7 WA
108 MAF (SN FAW S A TW | AGA HHOS TS B
sifqmer Tfyer T FACS TR ? TER W6 72 dyne/cm.

4+3+3

b) T 7 farraifer o@Rrew @ afosm AR e Tm
s Bgst wenee Efbald wmw
c) #ib wp1 Mot FfSera Tt toR I A FH ?
a) A drop of water of radius 1mm is to be divided

into 10° pointa drops of equal size. How much me-
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chanical work should be done ? The surface ten-
sion of water = 72 dyn/cm. 4
b) Draw the intensity-phase difference graph for
young-double slit experiment. 3
¢) Why two identical candle can not produce

interferance fringe. 3

a) TPRES TA F ? % tofa sae el @2 243
b) SR R T $RAGE @ SOETe JISHIL
SIS A T | ' 5
a) What is coherent source ? Write down the pro-
cess of formation Coherent Source of light.

b) Explain the formation of constructive and de-

structive interference by mathematical derivation.
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